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for the questions

1. Answer the following questions : 1x10=10

SR PR e frn -

(aq) Write the formula for normal
distribution.
1R RS et o |

(b) Which test is used to test the association
of attributes?
tRBR w <R <RIt & A W T
7
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(2)

(c) What is ordinal scale?
TS T &2

(d) Define coefficient of determination.
FFE TR TR B |

(e) What does E(y;) =0 mean for random
term in a regression line?
B AT @R IRE  RERR I
E;)=0 9 R pm?

() What is type-I error?
Type-1 & &2

(g) Define confidence interval.
AT AR e a1

(h) What is multicollinearity?
W R 2

i) When does heteroscedasticity arise?
ReaRvam cofdm ST = ?

() What is the difference of Binomial and
Poisson distribution about mean and
variance?

' REE aF A RER g W PRE
e 7
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(3)

2. Answer the following questions : 2x5=10

O PR e i

(a) Write two properties of F-test.
F-~fRpea 01 s o

(b) What are the two uses of t-test?
t->Rrpers 1 g

(c) When does binomial distribution tend to
normal distribution?
wriem Ao cfm Rt Reare Re
7

(d) Distinguish between one-tailed test and
two-tailed test.
F-CERPR O R-GERFE AR TS
N foran o

(e) Write the full form of BLUE.
BLUER <f SIRIa¢5! foran |

3. Answer any four of the following questions :
5x4=20

SR PP R @ wfer e
(a) Define power of a test. What are the
various steps of hypothesis testing?

AR ToR vyee g1 | oW AR RiSw
TR o
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(4)

(b) Write a short note on forecasting.

o{fferE soe ¢t 5 GrRT v |

(c) The life of an electric bulb for a random
sample of 10 from a large cons1gnment
gave the following data :

Rem :1 2 3 4 5 6 7 8 9 10
Life :46 4 395442 38 3 4456 6
(in ’000 hours)

Can we accept the hypothesis that the
average lifetime of bulbs is 4000 hours?

ool TR AT 3™ T v [T Tfee-
S 1061 IET QI OAS Ayl &0 oI
€ e :

¥ :1 2 3 4 5 6 7 8 9 10

G :46.4 39 54 42 38 3 44 56 6
('000 T%)

I ¢ HeE 4000 W @ R arg
TGN ? #{3eeT 0 |

(d) Explain the differences between auto-
correlation and multicollinearity.

R O T TES e
S #9411
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(5)

(e) Explain the method of measuring the
goodness of fit in a multiple regressmn
model.

7 SRR IR Te cerel Pt TR o
[T+

(? How can the inclusion- of irrelevant
variable create problem in regr.ession
analysis? Discuss.

AT RoRTS wapRT el e
REIRR 70 R FRT “E, AT F4 |

4. Answer the following questions : 10x4=40
SR 2P e R

(a) In a two-variable linear regression model
Y; =a+pX; +u;, where a and f§ are
parameters and u, is stochastic term,
find the mean and variances of & and f,

where & and f are estimates of @ and p. 10

Y, =a+BX, +u, @ R-%% (R Femd

=¥, TS o | B A W T u, FH W H,

& OF BT T WF PET SRR T’ & wE f

A o ¥ I A |

Or / &l

Explain the methods of detecting multi-

collinearity. How can the problem of

multicollinearity be solved? 6+4=10
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(6)

R-ADTTA {1 RN RSER T 341 | 9%-
IR AP (FCTCR ST 3R] 1R 2

(b) From the following table, .find the
coefficient of determination of the
regression line Y=a+bX +u : 10

©od SRR /T PR 29 et T'w
SRR (WO Y =a+bX +u ™ :

Y : 10 18 16 20 26
X : 10 20 30 40 50

Or / 537

Explain different types of hypothesis.
What are the properties of
F-distribution? A survey of 240 families
with 4 children each revealed the
following distribution :

No. of boys : 4 3 2 1 o
No. of families : 10 55 105 58 12

Is the result consistent with the
hypothesis that male and female b1rt.hs
are equally probable?

(Given that P(x? >a)=0-05, where x2
follows Chi-square distribution with n d.f.
andag=7-81,949,11'07whenn=3, 4,5
respectively) 2+3+5=10
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(7)

493 Rfew avvar I =1 F-ReIw
GRBIIR R 2 2400 AP 451F TWEI 9B
GPTRMS ©57S Tl 440 RS ¢ o' -

9 T3 : 4 3 2 1 o0
AW : 10 55 105 58 12
oY WIF T TR R T QR AFHC!

RF T2

(i sm= P(x2 >a)=005, % %2 X7
Chi3f RS n ToF TR oS &
a=7-81, 9-49, 11-07 AW n & 3, 4, 5)

(c) Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10

OLS WFa"® TRIDHE FARARE TG
Fq1 | % STPUT (TR SR AR 2

Or / &[1
A random sample of 5 families yields the
following data :
Family A B C D E
Savings (S)(000) : 6 12 10 7 3
Income (Y) (000) 8 10 9 6 6
No.ofchildren(N) : 5 2 1 3 4

Estimate the regression line of S on Y
and N. 10
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(8)

wae w561 REER AR (S), W (V) WF
SRR R (V) YR [/ IHBFER Y AF NI

ARACHE ST TR {91 e :
R : A B C D E
TW(S)(000) : 6 12 10 7 3
" 9®(Y) (°000) 8 10 9 6 6
MWEAMYI(N) : 5 2 1 3 4

(d) Explain the concept of errors in variable
in OLS estimation. Briefly explain various
methods to solve the problem of errors in
variable in such estimation. 4+6=10
OLS WReie 5ed o3 YRICH Il 0 |
X S o FOTR SSEARE R

BRI SEAS 4 |
Or / 9o

Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal analysis? Explain.
5+5=10

S T ARIER Yy ' AR W
R JRA TN |, I | R
RoRR cras RIFRAR wF AR I T

W ? e 3401

%* Kk
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